CATALOGORICAMBI
SPARE PARTSLIST
CATALOGUE DESPICES
DETACHEES
ERSATZTEILKATALOG
CATALOGORECAMBIOS

KALIBRA 10
Validita dal 10-10-2005




bl
AR}

I

)0

TAV.340/A

04/2003

K10




g - TABI
CODICE oANTITY CODICE ammTY | HOTOR TYPE
RIF. aarre | |RIF, QUANTTE | 5476884 [RP 7,5 2P 112 B5 220/60-T CSA
CANDIDAD CANDIDAD 8476890 |HP 10 2P 132 B5 MUL.230/400/50 T
1 5019813 I 51 8130267 SKE 6202 2RS 1 8476891 |HP 10 2P 132 B5 MUL.400/700/50 T
2 6050001 | 52 8131551 SKF 51101 2 8416892 [HP 10 2P 132 B5 575/60-T CSA
3 6052820 I 53 8153005 2 8476893 [HP [0 2P 132 B5 220/60-T UL
4 6070755 2 54 8153006 I 8416894 |HP 10 2P 132 B5 220/60-T CSA
5 6080001 4 55 8153009 4 8417050 |HP 12 2P B5 MULT. V230/400/50
6 6095666 I 56 8153032 2 8477051 |HP 12 2P B5 MULT. V400/700/50
7 6095667 I 57 8153034 12 8477052 |HP 12 2P B5 575/60-T CSA .
8 6097373 ' 58 8154004 2 84717053 |HP 12 2P BS 220/60-T UL
S| | o || 8| ne .| [ g gojeo T o
8477060 |HP 15 2P B5 MULT. V320/400/50
v BaTass | x| e ) 8477061 [HP 15 2P B5 MULT. VA00/700/50 C13?
o | coste0s | 63 | 8412013 ; 8477062 [HP 15 2P B5 575/60-T CSA
w | eoorior | opTionaL : 6 | siar5s | 8477063 [HP 15 2P B5 200/440/60UL C132
e | 001 ' e | 8628020 | 8477064 [HP 15 2P B5 220/60-1 CSA
% 6128500 i 66 | 8641214 | 8477070 |HP 20 2P B5 MULT. V230/400/50
7 6169228 I 67 8715003 10 8477071 |HP 20 2P B5 MULT. Vv400/700/50 Cl32
18 6169244 4 68 8715501 5 8477072 |HP 20 2P B5 575/60-T CSA
19 6169305 I 69 8715505 2 8477073 |HP 20 2P B5 220/440/60UL €132
20 6396211 I 70 8715803 4 8477074 |HP 20 2P B5 220/60-T CSA
2 6396212 I yyl 8753085 2 8477080 |HP 25 2P B5 MULT. V230/400/50 160
22 6409072 2 72 8786010 ) NSK UBPFL 203 4 8477081 |HP 25 2P B5 MULT. V400/700/50 160
2z 6595211 ' 73 8876090 8816031 inc | 8477082 |HP 25 2P B5 575/60T7 CSA CARCI60
g; 2232?;@ : ;; ggggggg g 8477083 [HP 25 2P B5 220/440/60UL CI60
% | oo | 7 | easnee O 7 37 A 2 1 11
27 6617639 4 77 8883125 4
28 6621054 | 2% §583518 5 8478701 [HP 11/13 2-4 B5 YA V230/50T
% | cerloce | 2 | 8883549 : 8478707 [HP I1/13 2-4 B5 YA V40076901
3 | cea2176 50 12 | g0 | 8883550 > 8478703 [HP I1/13 2-4 B5 YA V220/60T
3 6642188 60 Hz | 8l 8883562 9 8418704 |HP 11/13 2-4 B5 YA V380/60T
32 6745062 | 82 8883565 2 84718105 |HP 11/13 2-4 B5 YA V440/60T
33 6772067 I 83 8885054 ? 8478706 |HP [1/13 2-4 B5 YA V575/60TCSA
34 6772071 2 84 8885076 8 8478707 |HP 11/13 2-4 B5 YA V220/60T UL
35 6785608 I 85 8885078 2 8418708 |HP 11/13 2-4 B5 YA 220/6Q CSA
36 6785623 I 86 8885080 2 84187109 |HP 11/13 2-4 B5 YA 440/60T UL
37 6185714 I 87 8885081 8 8478710 |HP 12/15 2-4 B5 YA VA415/50T
38 6785728 I 88 8885109 I 84787111 |HP 12/15 2-4 B5 YA V230/50T
39 6881157 ' 89 | MOTOR B5 TAB. | ' 847187112 |HP 12/15 2-4 B5 YA V400/690T
40 | 6881158 3 8418713 [HP 12/15 2-4 B5 YA V22076071
o | sosiss & 26 m : 8478714 [HP 12/15 2-4 B5 YA 380/60T
a | suees03 | & 36 mm : 847815 [HP [2/15 2-4 B5 YA 440760T
| soses0s | @ 42 o | AB1 8478716 [HP 12/15 2-4 B5 YA 575/60 CSA
& | 809817 | HOTOR e 8418711 [HP 12/15 2-4 B5 YA 2207607 UL
46 8101083 4 8418718 |HP 12/15 2-4 B5 YA 220/60 CSA
48 810100] | 8476881 [HP 7,5 2P 2 B5 MUL.400/700/50-T
49 8101144 | 8476882 |[HP 7,5 2P 112 B5 575/60-T CSA
50 8130265 SKF 6200 2RS | 8476883 |[HP 7,5 2P 112 B5 220/60-T UL

K10 04/2003 TAV.340/A




K10

10/2002

TAV. 340




TABI
QUANTITA’ QUANTITA' MOTOR TYPE
R|F COD'CE Eﬂﬂﬁ R|F CODICE %m;ﬁ 8476884 |HP 1,5 2P 112 B5 220/60-T CSA
: QUANT - el 8476890 [HP [0 2P 132 B5 MUL.230/400/50 T
CANDIDAD CANDIDAD 84176891 [HP 10 2P 132 B5 MUL.400/700/50 T
1 5050001 | 44 8131551 SKF 51101 ? 8476892 |HP 10 2P 132 B5 575/60-T CSA
2 6052818 | 45 8153006 | 8476893 |HP 10 2P 132 B5 220/60-T UL
3 6070755 2 46 8153009 4 8476894 [HP 10 2P 132 B5 220/60-T CSA
4 6080001 1 47 8153032 2 8477050 [HP 12 2P BS MULT. V230/400/50
5 6097373 | 48 8153034 12 8477051 [HP 12 2P B5 MULT. V400/700/50
. 2091382 | 0 | si5303 ' 8477052 [HP 12 2P B5 515/60-1 CSA
7 6097383 | 50 8154004 2 8417053 [HP 12 2P B5 220/60-T UL
8 6110072 4 51 8154502 ? 8477054 [HP 12 2P B5 220/60-T CSA
9 6128500 4 52 8254002 | 8477060 |HP |15 2P B5 MULT. V320/400/50
10 6169228 I 53 8280097 I 8477061 |HP 15 2P B5 MULT. V400/700/50 CI132
1l 6169244 4 54 8454090 2 8477062 |HP |15 2P B5 515/60-T CSA
12 6169305 | 85 8472008 | 8477063 [HP 15 2P B5 220/440/60UL C132
13 639621 | 56 8472013 7 8477064 [HP (5 2P B5 220/60-T CSA
"“ 6396212 | 57 8482546 | 8477070 [HP 20 2P B5 MULT. V230/400/50
15 6409072 2 58 8628020 | 8477071 [HP 20 2P B5 MULT. V400/700/50 CI32
16 6595212 | 59 8715501 5 8477072 [HP 20 2P B5 515/60-T CSA
17 6595213 | 60 8715505 ? 8477073 [HP 20 2P B5 220/440/60UL C13?
18 6606173 | 6 8715803 4 8477074 [HP 20 2P BS 220/60-T CSA
19 6617243 | 62 8753085 2 8477080 [HP 25 2P BS MULT. V230/400/50 160
20 6617639 4 63 8786010 NSK UBPFL 203| 4 8477081 |[HP 25 2P B5 MULT. V400/700/50 160
2 6621056 | 64 8876090 | 84717082 |HP 25 2P B5 575/60T CSA CARCI60
2 6621063 | 65 8883026 ? 8477083 [HP 25 2P B5 220/440/60UL CI60
23 5642176 50 Hz | 66 8883036 2 8477084 |HP 25 2P B5 220/60 T CSA CARCI60
24 5642188 60 H: I 67 8883062 1 8478700 |HP 11/13 2-4 B5 YA V415/50T
% 6745062 | 68 8883125 4 8478701 |HP 11/13 2-4 B5 YA v230/50T
2 6772067 | 69 8883518 2 841781702 [HP 11/13 2-4 B5 YA V400/690T
27 6772068 2 70 8883549 3 84178703 [HP [1/13 2-4 BS YA V220/60T
28 6785608 | n 8883550 ? 84178704 [HP [1/13 2-4 BS YA V380/60T
2 6785623 | 72 8883551 ? 8478705 [HP [1/13 2-4 B5 YA V440/60T
30 6785677 | 73 8883562 g 8478706 [HP [1/13 2-4 B5 YA V575/60TCSA
3 8785714 | 74 8885054 2 8478707 [HP 11/13 2-4 B5S YA V220/60T UL
32 6881157 | s 8885085 1 8478708 [HP 11/13 2-4 BS YA 220/60 CSA
33 6881158 3 76 8885109 | 8478709 [HP 11/13 2-4 BS YA 440/60T UL
% 8079019 2 77 MOTOR B5 | 8478710 [HP 12/15 2-4 BS YA V415/50T
' 8086502 @ 28 mm | 847871 [HP 12/15 2-4 B5 YA V230/50T
36 8086503 @ 38 mm | 8478712 [HP 12/15 2-4 B5 YA V400/690T
37 8086504 @ 42 om | TABA 8478713 |HP 12/15 2-4 B5 YA V220/60T
18 8101083 1 MOTOR TYPE 8478714 |HP 12/15 2-4 B5 YA 380/60T
3 | 8101090 | 8476880 [HP 7.5 2P 112 B5 MUL.230/400/50-1 8478715 [HP 12/15 2-4 BS YA 440/60T
40 | 810109 | 8476881 [HP 7,5 2P 112 B5 MUL.400/700/50-T 8478716 [HP 12/15 2-4 BS YA 515/60 CSA
4 8101144 | 8476882 [HP 1,5 2P 112 B5 575/60-1 CSA 8418717 |[HP 12/15 2-4 BS YA 220/60T UL
42 | 8130265 SKF 6200 2RS| | 8476883 |HP 1,5 2P 112 B5 220/60-1 UL 8478718 [HP 12/15 2-4 BS YA 220/60 CSA
43 8130267 SKF 6202 2RS 4 847181719 |HP 12/15 2-4 B5 YA 440/60T UL

K10 10/2002 TAV. 340




24

)

(535 DE

@ @) @) @A

TAV. 341/A

04/2003

K10




CODICE quaTTY
RIF. QUANTITE
MENGE
CANDDAD
1 6075108 |
2 6097376 !
3 6097371 |
4 6097318 !
5 6097379 !
6 6097380 |
7 6097381 |
8 6097386 2
9 6396209 4
0 | 6396210 4
1 6615718 !
2 | 6617567 4
B | 6617583 2
“ | 6617584 2
B | 6617625 4
6 | 6617642 2
7 | 6734130 |
B | 673413 !
B | 6735059 |
20 | 6785598 NSK UCT 206 | 2
2A | 6785609
2 | 6185698 2
23 | 6185135
24 | 6805906
% | 6881335 2
2% | 801178 2
27 | 8153034 8
28 | 8153037 12
2 | 8153039 2
30 | 8701023
31 | 8701024 | OPTIONAL
32 | 8715004 8
33 | 8715505 3
34 | 8715701 2
B | 8719909 8
3 | 8775014 4
37 | 8786040 NSK UCFL 206] 2
38 | 8868005 | OPTIONAL
3 | 8883062 2
40 | 8883083 2
4 | 8883086 4
42 | 8883563 12
43 | 8885054 2

o CODICE Sy
' MENGE
CANDIDAD

44 8885062 8
45 8885076 8
46 8885102 18
47 8885105 8
48 8885124 I
49 8887617 64
50 MOTOR I

MOTOR TYPE
8417130 [HP0.68/1.36 4-8 90 BS 415/50T
8477131 |HPO.68/1.36 4-8 90 BS 230/50T
8411132 |HP0.68/1.36 4-8 90 BS 400/50T
8417133 |[HPO.81/1.63 4-8 90 BS 220/60T
84717134 |HPO.81/1.63 4-8 90 BS 380/60T
8477135 [HPO.81/1.63 4-8 90 BS 440/60T
8417136 [HPO.81/1.63 4-8 90 BS 575/60T CSA
8417131 |HPO.68/1.36 4-8 90 BS 220/60T UL
8471138 [HPO.81/1.63 4-8 90 BS 220/60T CSA
8477139 [HPO.81/1.63 4-8 90 BS 440/60T UL

K10

04/2003

TAV.341/A




K10

10/2002

TAV. 342




CODICE QUMTTY
RIF. QUANTITE
MENGE
CANDIDAD
1 6396235 2
2 6481122 10
3 6606174 5
4 6734132 |D 50 mm SH 35 -
5 6734133 [D 50 mm SH 35 -
6 6785652 2
7 6785678 2
8 6785679 2
9 6785716 |
10 6785711 |
fl 6785718
12 6785725
13 6819026 10
1 8101108 2
5 8130219 SKF 6201 2RS| -
1 8131753 2
7 8153006 10
18 8153034 2
0 8153036 12
20 | 8154003 20
2 8280156 10
2 | 8472006 2
23 | 8719909 [D 50 mm STEEL -
24 | 8883025 4
% | 8883058 ?
26 | 8883086 8
27 8883088 4
28 | 8885057 2

K10

10/2002

TAV. 342




K10

04/2003

TAV. 342/




CODICE QUANTITY

RIF. QUANTITE
MENGE

CANDIDAD
1 6396235 2
2 6481122 10
3 6606174 5
4 6734132 |D 50 mm SH 35 -
5 6734133 [D 50 mm SH 35 -
6 6785652 2
7 6785678 2
8 6785679 2
9 6785716 !
10 6785711 !
f 6785718 |
2 6785725 !
13 6819026 10
14 8030029 4
5 8101107 2
1 8130219 SKF 6201 2RS| -
7 8131753 2
18 8153006 10
0 8153034 2
20 | 8153036 F.
2 8154003 20
2 | 828015 10
23 | 8472006 2
24 | 8719909 |D 50 mm STEEI .
2% | 8883025 4
26 | 8883058 2
27 8883086 8
28 | 8883088 4
29 | 8885057 2

K10

04/2003

TAV. 342/A




10/2002

TAV. 343




CODICE

QUANTITA"

QUANTITY

RIF. Gl
MENGE

CANDIDAD
{ 3090100 TAV.349 |
2 3090109 TAV, 348 |
3 6065067 TAV. 348 |
4 6169316 3
) 6255136 |
6 6255138 |
7 6390134 |
8 6606175 |
9 6734127 TAB. | |
10 6734129 |
fl 6785676 |
12 6807618 |
13 6825020 |
14 6825021 |
5] 8023161 |
16 8030068 2
17 8030184 |
18 8130271 SKF 6308 2RS 2
9 8153009 |
20 81530317 3
21 8153040 2
22 8153072 2
23 8504008 TAB.? |
24 8715505 2
25 8786040 NSK UCFL 206 2
26 8786046 NSK UCPA 206 2
27 8860000 |
28 8883011 |
29 8883088 |
30 8885054 3
31 8885078 4
32 8885098 2
33 8885153 4
34 8886182 2
35 8886186 ?
36 8886190 |

TAB. |
6734127)1D 140 mm SH 85
6734128|D 140 mm SH 35
6734138|D 140 mm STEEL

TAB.?2

8501008

SV 1900x980 GRAIN 80

8501009

SV 1900x980 GRAIN

12

K10

10/2002

TAV. 343




|K10 R160 |

10/2002

TAV. 344




RIF.

CODICE

QUANTITA'

QUANTITY
QUANTITE
MENGE

CANDIDAD

TAB. |

6734148(D

[60 mm SH 85

BHELVBRBLIPYEBYBRIRYNNYSBIFAFET/R=SOoONoareon=

3090100
3090109
3090113
6065067
6169316
6255132
6255133
6390134
6606175
6134129
6734148
6785616
6807618
6825020
6825021
8023167
8030068
8030184
8130277
8153009
8153037
8153040
8504008
8115505
8186040
8186046
8860000
8883017
8883088
8885054
8885078
8885098
8885153
8886182
8886186
8886190

TAV. 349
TAV. 348
TAV.348

TAB. |

TAB.2

SKF 6308 2RS

NSK UCFL 206
NSK UCPA 206

— RO N RN A W— — —MRMRORN —BRWw—MR —MN — — — — — — — — — — — W — — —

TAB.?

8501008]SV

1900x980 GRAIN

80

85010098V

1900x980 GRAIN

12

IKlO R160

10/2002

TAV. 344




[<10 R230 ]

10/2002

TAV. 345




CODICE CUMTITY

RIF. QUANTITE
MENGE

CANDIDAD
1 3090100 TAV. 349 |
2 3090109 TAV. 348 !
3 3090113 TAV. 348 !
4 6065067 !
5 6169344 3
6 6255142 !
7 6255143 !
8 6390134 !
9 6606175 |
0 6734129 |
1 6734149 !
2 6785676 |
B 6807618 !
" 6825020 |
5 6825021 !
® 8023167 !
7 8030068 2
B 8030184 !
8 8130277 SKF 6308 2RS| 2
20 | 8153009 |
2 8153037 3
2 | 8153040 4
23 8504009 grain 120 |
24 | 8715505 2
% | 8786040 NSk UCFL 206 2
2 | 8786046 NSK UCPA 206| 2
27 | 8860000 |
28 | 8883017 |
29 | 8883088 !
30 | 8885054 3
3 8885078 4
32 | 8885098 2
33 | 8885153 4
34 | 8886182 2
B/ | 8886186 2
36 | 8886190 !

IKlO R230

10/2002

TAV. 345




[K10 TAMP]

10/2002

TAV. 346




CODICE

QUANTITA’

QUANTITY

RIF. QUANTITE
MENGE

CANDIDAD
1 3080100 TAV. 349 |
2 3080109 TAV. 348 !
3 3090113 TAV. 348 |
4 3360300 [T.350,351,352 |
5 6169347 3
6 6255138 |
7 6255144 |
8 6606176 !
9 6606185 |
0 6734129 |
1 6734134 |
) 6734147 !
1 6785599 |
4 6785600 |
5 6785676 !
® 6785699 |
n 6825020 |
18 6825021 !
9 8023157 2
20 8023167 |
2 8030053 |
2 | 8030068 2
23 | 8030184 !
24 | 81302m SKF 6308 2RS| 2
%5 | 8130436 SKF 62206 2RS| 2
26 | 8153009 |
27 | 8153037 6
28 8153072 2
20 | 8504009 | GRAIN 120 !
30 | 8715505 2
3 8786040 NSK UCFL 206| |
32 | 8786042 NSK UCFK 206| |
3 | 8786046 NSK UCPA 206 2
34 8860000 |
3B | 8883017 !
36 | 8885054 3
37 8885078 4
38 | 8885080 4
3 | 8885098 2
40 | 8885105 3
4 8885124 3
42 8885153 4
43 8886186 2
44 | 8886190 |

|10 TAMP |

10/2002

TAV.346




|10 KRT ]

10/2002

TAV. 347




CODICE SuanTTY CODICE auaTTTY
RIF. QUANTTE RIF. QUANTITE
CANDIDAD CANDIDAD
1 3090100 TAV.349 | 44 8886182 2
2 3090109 TAV.348 2 45 8886186 ?
3 3090113 TAV. 348 ? 46 8886190 |
4 3360300 T.350, 351,352 |
5 6065067 |
6 6169340 3
7 6255138 |
8 6255141 6255140 r-krt |
9 6390134 2
10 6606175 |
1 6606176 |
12 6734128 TAB. | |
13 6734129 |
“ 6734134 |
5 6785599 2
16 6785676 |
17 6785699 |
8 6807618 2
19 6825020 |
20 6825021 |
2 8023157 2
22 8023167 |
23 8030053 |
24 8030068 2
p-3) 8030184 |
26 813021717 SKF 6308 2RS 2
27 8130436 SKF 62206 2RS 2
28 8153009 |
29 8153037 3
30 8153040 4
3 8504009 GRAIN 120 |
32 8715505 2
33 8786040 NSK UCFL 206 2
34 8786046 NSK UCPA 206 2
35 8860000 |
36 8883017 |
37 8883088 |
38 8885054 3
39 8885078 4
40 8885080 4
41 8885098 2
42 8885124 3
43 8885153 4

TAB . |
6134128|D 140 mm SH 35
6134138(D 140 mm STEEL
0134139(D 140 mm SH 65

[<10 KRT

10/2002

TAV. 347




TAV. 348

10/2002

K10




CODICE SUMNTITY
RIF. QUANTITE
MENGE
CANDIDAD
1 3090136 TAB. | |
2 6042026 |
3 6069021 |
4 6069023 |
5 6070652 |
6 6070746 |
7 6070747 |
8 6390134 |
9 6408070 |
0 6609005 |
1 6617587 |
) 6617601 |
B 6617640 |
" 6735056 |
5 6785604 |
® 6785605 |
7 6185661 |
B 6785662 2
) 6807618 |
20 | 6831099 |
2 6881344 |
2 | 71481013 2
23 | 8040018 |
24 | 8102007 |
% | 802000 |
26 | 810203 |
27 | 8153009 |
28 | 8153011 |
2 | 8153032 3
30 | 8153033 |
3 8153034 2
32 | 8153036 2
33 | 8153037 3
34 | 8154003 |
B/ | 8154033 |
36 | 8250009 |
37 | 8254504 2
38 | 8257011 3
3 | 8258000 |
4 | 8280115 2
4 8280127 |
42 | 8280440 |
43 | 8280762 |

CODICE QuANTTTY
RIF. QUANTITE
NENGE
CANDIDAD
44 | 8360040 |
45 | 8406007 |
46 | 8411041 |
47 | 8680717 2
48 | 8680721 4
49 | 8680902 4
50 | 8714007 2
51 8714024 |
52 | 871500 |
53 | 8715002 8
54 | 8715003 5
55 | 8715007 2
56 | 8715009 |
57 | 8715201 2
58 | 8715505 2
50 | 8715603 |
80 | 8759000 3
ol 8860025 |
62 | 8883017 |
63 | 8883022 3
64 | 8883025 8
85 | 8883043 |
66 | 8883062 4
67 | 8883064 4
68 | 8883066 4
69 | 8883077 |
70 | 8883084 |
7 8883086 |
72 | 8883089 2
73 | 8883166 |
74 | 888508 2
75 | 8885109 |

TAB. |
RR 3090133
RR 0472003 3090136
RT 0472003 3090134
RKRT 04/2003 3090136
KRT 3090133
KRT 04/2003 3090136

K10

10/2002

TAV. 348




K10




CODICE

QUNTITA'

QUANTITY

RIF. QUANTITE
MENGE

CANDIDAD
1 6095022 |
2 6618006 |
3 6618007 !
4 6623023 !
5 8023049 !
6 8023054 |
7 8030068 !
8 8079018 2
9 8303020 |
10 8303021 |
1 8680608 |
) 8759000 !
) 888716 !

K10

10/2002

TAV. 349




OROJONDIOIDIDNONDENOMDIND

K10 STAND]

10/2002

TAV. 350




CODICE auTTY
RIF. QUANTITE
MENGE
CANDIDAD
1 3380178 |
2 6065067 |
3 6065068 2
4 6070748 |
5 6070749 2
6 6303022 |
7 6303023 |
8 6390134 !
9 6397009 !
o | 6608789 !
f 6617598 2
2 | 6617603 |
B | 6617604 !
M| 6617667 !
B | 6785624 2
B | 6803001 |
m | 6803002 |
B | 6831100 !
B | 7020508 !
20 | 8101158 2
2| 8131845 GLY PG 161820-F 2
2 | 8131867 GLY PG 252830-F 2
23 | 8131890 GLY PG 404420-F 2
24 | 8280115 4
% | 8883036 3
2 | 8883064 2
27 | 8883086
28 | 8883174 4
20 | 8884345 2
30 | 8887107 10

[K10 STAND]

10/2002

TAV. 350




TAV. 351

10/2002

k1o PNEUM]




CODICE QUNTTY
RIF. QUANTITE
MENGE
CANDIDAD
1 3380176 |
2 3380177 |
3 6065067 |
4 6065068 2
5 6070748 I
6 6070749 2
7 6303022 |
8 6303023 |
9 6390134 |
0 6397009 |
1 6608789 |
) 6617598 2
B 6617602 2
" 6617603 |
5 6617604 |
® 6617667 |
] 6785624 2
18 6785740 |
0 6803001 |
20 | 6809002 |
2 6831100 |
2 | 7020508 |
23 | 8093200 |
24 | 8101158 2
2% | 8131845 GLY PG 161820-F 2
26 | 8131867 GLY PG 252830-F 2
27 | 8131890 GLY PG 404420-F 2
28 | 8154180 |
29 | 8280115 4
30 | 8680608 |
3 8860016 |
32 | 8883036 8
3 | 8883064 2
34 | 8883086 |
3/ | 8883174 4
36 | 8884345 2
37 | 8887107 10

K10 PNEUM|

10/2002

TAV. 351




‘H\WI A
L)
.r«l.rl“ ©

TAV.352

04/2003

K10 PRE]




CODICE

QUANTITA’

QUANTITY
RIF. QUANTITE
MENGE
CANDIDAD
1 3380176 |
2 3380177 |
3 6065067 |
4 6065068 2
5 6070748 |
8 6070749 2
7 6169301
8 6303022 |
9 6303023 |
10 6390134 |
1 6397009 |
) 6608789 |
B 6617598 2
" 6617599 |
5 6617602 2
;) 6617603 |
7 6617604 |
] 6617667 |
19 6725383 |
20 | 6785624 2
2 6785740 !
2 | 6803001
23 | 6809002
24 | 6831102 |
% | 7020508 |
2% | 8093200 |
27 | 8101158 2
28 | 8102005 |
29 | 8131845 GLY PG 161820-F 2
30 | 8131867 GLY PG 252830-F 2
3 8131890 GLY PG 404420-F 2
32 | 8153007 |
33 | 8153038 |
34 | 8154180 |
B/ | 8280115 4
36 | 8280187 |
37 | 8680608 3
38 | 8715600 |
39 | 8860016 |
40 | 8883036 8
4 8883064 2
42 | 8883070 4
43 | 8883086 |

ar|  CODCE =
' MENGE
CANDIDAD
44 8883174 ]
45 8884345 ?
46 8887107 10

[ <10 PrE]

10/2002

TAV. 352




TAV.353

10/2002

[k100PT. ]




RIF.

CODICE TAV.

QUANTITA'
QUANTITY
QUANTITE
MENGE

CANDIDAD

2 OONOOAWN T

F N ~N )

Y8RV BBNBHRBNNBssIoa

6020372
6022584
6053043
6053044
6481113
6608788
6609130
6771817
6779081
6785650
6785651
6785652
6806120
6806127
6807621
6881340
8023137
8131847
8153032
8153033
8154004
8360035
8472006
8715003
8115005
8883020
8883022
8883069
8883164
8883517
8883518
8885023
8885032
8885034
8885080
8887109
8887112

GLY PG 182015-F

Ao AR — — — O RN A ADMW— NN — N — — — — N — — — — — — — — — — —

CODICE TAV.2 |owm

RIF. QUANTITE
MENGE

CANDIDAD
1 6065075 |
2 661765 |
3 6617661 |
4 6785598 NSK UCT 206 |
5 6785719 |
6 6881335 1
7 8102033 |
8 8109076 |
0 8131819 GLY PG 101210-F |
0 | 8153006 1
1 8153032 2
2 | 8153039 1
B | 8154039 1
uo| 8254504 |
B | 8257015 |
6 | 8680262 2
7 | 868072l 2
B | 8714004 |
B | 8714044 |
20 | 8883026 2
2 | 8883128 4
2 | 888313 |
23 | 8885054 2
24 | 8887139 2

| K10 PRE |

10/2002

TAV.353




TAV.354

10/2002

[k100pT. ]




RIF.

CODICE

QUANTITA"
QUANTITY
QUANTITE
MENGE

CANDIDAD

NTETITHAESIRTSIOONOALON—

6273840
6735058
6785639
6831101
8030025
8102034
8109075
8130195
8153036
8153207
8154003
8154004
8680856
8115003
8803453
8840000
8883059
8883084
8883092
8883166

SKF 6001 2RS

~ro

N A B0 — — OV MO BRI — — N — oo

| K10 OPT. |

10/2002

TAV.354




MACH INE CODE BELT-TYPE
RR 140-140 | 8102617 | MICRO V PL 2019
RR 160-230 | 8102622 | MICRO V PL 2235
RT 140-TAMP] 8102617 | MICRO V PL 2019
RK 140-KRT | 8102617 | MICRO V PL 2019
KRT 8102612 | MICRO V PL 1765
K10 10/2002 TAV. 355




ON/OFF

ON/OFF/ [ION/OFF

ON/OFF

6595198

6595192

6595211

6595193

K10

TAV. 356






